85424

TovaL

welded. 4 Req’d. per F.

SHEET No. 0

iz ¢ 6 As Required STATE OF ILLINOIS Faszoe| = | mock rseamo | 3| | 18 | Mseets
24 | 12 ¢ o 9 10 DEPARTMENT OF TRANSPORTATION — e
40 |20 ¢ —rj=— 3 mox. 19.61 m end to end railing Pier * 92-00297-00-BR
~ NI ARl = L3 m, 7 rail post spaces at 2.43 m = I7.01 m L3 m
t 3 | =
lpa oo
Without Slot With Slot N'R
r R
or hecess e DETAIL OF 12 mm ¢ & 20 mm ¢
VIEW A-A 19.61 m end to end deck
B ROUND HEAD BOLTS ELEVATION
900 230 Min.
I 460 Max. |
»A .
. 2% .JQ%' 150_, 130, noEE
[Te) o 1 =
Ml i Y "‘«_ N ' 1
— : = A | ||
[ 1 g 6 / | - .
6 mm ¢ N 2-12 mm ¢ x 150 mm_Round 02 x 02 x 6.4 » ) LT m" © S % o NOTES
Holes in post | N[ - Head Bolfs (with slof or approved Steel Tubing = 27 mm ¢ Holes for 24 mm ¢ x e~ N L I B 8
— | recess In head} with /oqknut & flat S 100 mm Round Head Bolts 2 flat 175 l 40 ! All boits, nuts, cap screws, washers and fock washers shall be
- % washer 16 mm ¢ Holes in tubing may 9 S washers & locknuts for guard rail + 32720 mm ¢ 16 mm ¢ Holes in Tube © galvanized according fo AASHTO M 232.
| be drilled in the field. ) > connection shown on Std. 631026 < P Drain Hole 20 mm ¢ Holes in P = All posts, railing, rail splices, anchor devices and angles shall be
[ f galvanized after shop fabrication according fo AASHTO M 111
commé___ S 305 x 102 x 6.4 @ of f- gl N0 i and ASTH A 385. Galvanized rail shall not be painied
Holes in posti ] - 2-20 mm § x 150 Round Head Bolts Steel Tubing 25 mm B—|<|—— 381"~ o mm e ° Railing shall be according o Section 509 of fhe Standard
; P S Q 75, |40 8 Specifications, except as noted, and will be paid for at the contract
head) with locknut & flat washer Y ey 40
- b 22 mm $ Holes in tubing may be 2 - 75I X 22 mm ¢ Holes in Tube e unit price per meter for STEEL RAILING, TYPE TP-1 (SPECIAL). -
9 i Iy thy Flold 9 _ f 57 mm § Holes in P ° : All fleld drilled holes shall be coated with an approved zinc rich
= . _ D) | paint before erection.
Wis0x37 | The lower portion of the post flange in contact with concrete shall
—_ -..é_ = ~ N
0l g ol 20 mm ¢ Drain Hole 1A receive two coats of asphalf paint conforming to Section 1060.07 Type II
22 mm x 100 64 or place 3 mm fabric bearing pad between the post and concrefe.
o Slofted_Hole J 20 mm ¢ x 150 mm Round Head Bolts The M20 high strength boits used to connect the 152 x 102 x 19
8 in post l R (with slot or approved recess in head) angles to the post shall be tightened according to -Article 505.04(f)3)
/—L 152 X 102 X 19 N with locknut & flat washer of the Standard Specifications. The M24 high strength boits connecting
ha) 25 the angles to the concrete shall be tightened to a snug fit and given
| gl gi g g
v — 't 22 mn/v__Q_Hg_l_e_._s V‘ ; S— 12 mm ¢ x 150 mm Round Head Bolts  qp gqditional s turn. The 16 mm $ cap screws In bottom of posts
-l - - ange 1 - . _ PR 5V N\ (with slot or approved recess in shall be tightened to a snug fit only.
B @'.._- B “’T‘ i t N CRNERYN N T < " head) with locknut & flat washer For multi-span bridges, sufficient 6 x 150 x 400 galvanized steel
¥y ol b e . R . N DTN = o UYL — shims shall be provided to align rail between adjacent spans. Cost
! e J— : . ST : B < included with Steel Railing.
| 951 95 | 2-M24 x 95 mm H.S. Bolts * o Ty I All dimensions are in millimeters (mm) except as noted.
i with flat washer f o M
+235 (To be 2-M20 x 85 mm H.S. Bolts with *j L‘ZO L Traffic side of rail
verified in the field) hex nut & flat washers .
For connection details see sheet 9 of 5.
| END OF RAIL DETAILS
401
& F] —{i} ¢ > $
M6 Bolts
g with flat -washers
” (Galvanized) [’ P 10 x 60 x 500 o
LA A Top & Bottom 5 :
SECTION AT RAIL POST RS S
20 x 75 Siotted Holes - [
’ ol 8 20 mm ¢ Holes P 10 x 73 x 500 Locknut
SECTION A-A 1 i Each Side i Looknut—lll
27 mm ¢ Holes — lo—ot i il RN
95 95 + + 16 mm ¢ x 45 mm Cap 20 mm ¢ Holes in n:&" 16 mm ¢ x 45 mm Cap Screw
| | 81 30 ' l 30 * Threaded areas shall be plugged or Screw with flat washer l tubing 27 x 65 Slotted with fiat washer & 20 mm ¢
—— e blocked off during casting of beam. TOP RAIL Holes in tubing = X pipe spacer, 13 mm long.
s xioe x T - . el RAIL SPLICE CONNECTION
19 x 150 mm long © Grind 8 mm Chamfer & mm SHIM PLATE P 10 x 64 x 500 4 AT _EXPANSION JT. BILL OF MATERIAL
65 M24_HS. Nut AASHTO 705 & Bottom 7 T T T
2-22 mm ¢ Holes in_angles WI50x37 € Post W 1644 welded to P em &L uantiry
1-22 x 100 Slotted Hole P 25 x 150 x 330 Steel Railing, Type TP-1 (Special) m 40
In Post 20 50, 50,45 95 Cast 25 mm voids behind at rail splice =
| 7| edch nut. Steel Tub/ng~————\5‘ at exp. jt. af 10 °C
SECTION B-B ' ! ol 5 © £ 10 x 276 x 500 Locknt  § et
e S e = : N ¢ HO/e—} Y N Fach Side / ocknu e b
SPN Aug. 24, Ik @ Pt @g : o - = BE Locknut
DESIGNED g. 2087 © | 26 mm ¢_;; ;lﬁfmm C;)ap [‘Fh'( ge i | 18 mm ¢ Holes TYPE TP-1 (SPECIAL)
S crew wi ar washer
checken_TWH - L s in 16 mm 2 COMBINATION STEEL RAILING
19 mm ¢ x 180 mm Granular or 1 -00-
DRAWN R. Doty 5 mm ¢ x i5C mm Grandar 20 mm § Holes In tubing F.A.S. RT. 204 SEC. 92-00297-00-BR
CHECKED _ SPN/TWH TOP ANCHOR DEVICE conforming to Art. 1006.32 of the BOTTOM RAIL PLAN-BOTT. SPLICE B ROCK ISLAND COUNTY
Std. Spec’s. automatically end
(3.2 m Maximum Post Spacing) pec s d aicaly end SECTIONS AT RAIL SPLICE I_Yﬂg.é_l:_ STA. 0+304.801

T \projects\wac00014\0813021.0gn 1172672007 11: 35: 23 AR




